CCM1A Unk 3 Test Roviow

1. Aead the directions to onswer the following questions about siope.

Given the following pairs of points, calculate the siope.
3 (2, SK-S, 5) b(52(52  c(-,-328 b-"3_ 9

é:j ._..._gg..: 2"-|- 3=3
-5-2 -5-5 -0 :01

&. Find r. given & slope of -3 and point (2, 6) and (4. ¢}
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2. Motch the slope-intercept equotion with the comrect line an the graph. 0= C |
A £ A and D > r4
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3. M Eman's dog Luly Is walking in the backyard " ||
2 Mvmctue«nhuwdddon Luls walk back towards the 2 +
house?
= 0\1\(5 PWN 2 ax4BY z i
At what rate Is she walking during this time? - i

-10

G= 5% g

b. During what time m«v‘ai does Lulu st and stare at a
suimel? =) Fiak, Bena

What is the rate of change during this lime? OH/SQ. 0123404 ; TR 9 10
Tume (ees)

c. identify the domain and range
D: 04x &9 Ri 105y £2%

¢ Whenis Lulb walking the fastest?

=> Srecpest! 7 4yeq




4. Find the slope of the line
4 down
“~ ris\w

5. Draw a line for each given point and 1lope

a Slope=3/2 Point=(-1,0)
b Slope=-2 Point(3, 2)
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6. Jenaifer already has some money saved up to buy a laptop. She needs more money to buy the ane
she wants 10 the has declded 10 tave a set amount each week.

Compiete the missing values in the chart and answer ol questions.

Number of weeks | Amountofmoney| . oo this sppear to be a hnear funcrion? Wiy o

why not? 1S . ¥ and Y" Follow o
L g

° i b.  What is the y-interceptIn this sityation? E_
1N, 2 240 | 440 What does this value represent?
N 200 % Initial amount pf monew
6 320 ¢ What s the slope for this situation? ~2° = 20
What does the slope represent?
a 360 &Y ¢S ‘ 20 ger weeX.

d Write a NOW-NEXT and Formal Recursive rule that describes the pattern n the table. Include
start rumber,_TNEXY =Now 42D sdord =200
0, = Q,., +20 Q.= 200

¢ Write an equation in slope-Intercept form 10 represent the samoumt of money Jenanifer has st x
number of weeks }‘ = 20% & ZQQ

. The computer that Jennifer wants 10 buy costs $520. How many weeks will it take het to save up

enough money? 520 =20x + 200

320 = 20%
2D 20

o= X




CCMIA Unit 3 Teat Review Naose:

7. Ryan has all of Nis monay In his bank sccount. He will take eut a certain amount of money each week

for the next 15 weeks. Selow is @ graph to represent how much money (y) Brett has in Ns bank at (»)
number of weeks.
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3. Does this appear 10 be a linear function? Nes
Explain why or why not._ =¥ __mMA¥LS o <Siro ’\%hi \it\c‘.

b. What is the yintercept in this situation? 559
What does this value represemt?_® S50 10y Q%M%Mw
¢ What is the slope for Ds situation? -55‘ = =25 innj “% .

What does the slope represent? TaXeS Ouyr $25 oor WCLK-.

d. Write a NOW-NEXT and formal recursive rule that describes the patiern in the table. Include stant
number. INEXE = NOW =255 ginrd =590 Ap=0nay —25 a:
8. Write an squation in slope-intercept form 10 represent the amount of money that Brett has In his
account ot eny week "L‘-'- ~-25% + 5&
. How muth money does Brett have left In his account ot the end of the 1S weeks? _$ | 7
y= -25(18) +550
y= 115




§. Suppose the windows In your houte are Rithy. You decide 1o hire & window washer 10 get your
windows spariling. One window washer In particuler charges a fee of $30 for materials plus $20 for sach
additional window that he deams.

3 I you were to graph thas situation, what would the y-intercept be? Let x be the number of windows
wm,umm_LQ._ﬁﬂ_
b. What s the siope? _8 2D

¢ Write 8 NOW-NEXT and formal recursive rule for this situation including start number.
= z 0a=0,., t20 Q=50

d. Represent this tTuation vsing 2n equation in dope-intercept form.

N=20% + 50
. mm»wdmdmedanmwrmmmmwywsm Haw many
windows were cleaned? 330 = 20%x 4+ 50
== == 14 windows .
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